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c}d ²¥¾^c  

   

 

_vJ}d (qgZp£WH)¾ 
(\¥Op^r EdXp) 

GEOGRAPHY (Theory) 
(Punjabi Version) 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 70 
Time allowed : 3 hours Maximum Marks : 70 

 qHc\p HcHy q²¾crIV Hc} de} qH qBg \of²¾ \§Wc Wy N\y h}By 8 \¥²y¾ + 2 `p²¾qM§Wc 
h²¾¾ & 

 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 
`t§I \¥²y¾ Wy kcvc qd§IV & 

 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 22 \of²¾ h²¾ & 
 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 
 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 
\§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hr 
qdIVJy & 

  Please check that this question paper contains 8 printed pages + 2 Maps. 

  Code number given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

  Please check that this question paper contains 22 questions. 

  Please write down the Serial Number of the question before 
attempting it. 

  15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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qeAp\H q²¾cYyf : 

(i) qBg \of²¾ \Wo qeM Htd 22 \of²¾ h²¾ &  

(ii) gpcy \of²¾ kcvcr h²¾ & 

(iii) \of²¾ g¥qIAp 1 W~ 7 ^htW N}Ry E¨Wc epdy \of²¾ h²¾ & hc qBH \of²¾  

1 A¥H Yp h± & hc qBH \of²¾ Yp E¨Wc 40 f^Yp£ W~ qkApYp ²¾hs 

h}Vp MphrYp h± & 

(iv) \of²¾ g¥qIAp 8 W~ 13 N}Ry E¨Wc epdy \of²¾ h²¾ & hc qBH \of²¾ Yy  

3 A¥H h²¾ & qB²¾ªp£ qeM qBH \of²¾ `t§d-AZpcW \of²¾ h± & hc qBH 

\of²¾ Yp E¨Wc 80 – 100 f^Yp£ W~ qkApYp ²¾hs h}Vp MphrYp h± & 

(v) \of²¾ g¥qIAp 14 W~ 20 d¥^y E¨Wc epdy \of²¾ h²¾ & hc qBH \of²¾ Yy  

5 A¥H h²¾ & hc qBH \of²¾ Yp E¨Wc 150 f^Yp£ W~ qkApYp ²¾hs h}Vp 

MphrYp h± & 

(vi) \of²¾ g¥qIAp 21 AWy 22 `p²¾qM§Wcp£ ²¥¾v \qhMp²¾V Op£ gqXWr YcgpV 

AWy _vJ}dH qefyfWpep£ ²¾pd g¥̂ ¥qZW \of²¾ h²¾ & hc qBH \of²¾ Yy  

5 A¥H h²¾ & 

(vii) Ap\Vy qY§Wy JBy g¥gpc AWy _pcW Yy cyIp `p²¾qM§Wcp£ ²¥¾v E¨Wc-\tgqWHp 

qe§M kcvc ²§¾Xr Hc} & 

(viii) cyIp `p²¾qM§Wc ^²¾pEV dBr gp£qMAp£ Wy gR|gdp£ Yr ecW~ dBr ApqJAp 

qY§Wr Op£Yr h± & 

1. A¥Wc-cpfRcr e\pc Yy dBr hepBr U}Ap UtApBr Yy qHgy Y} dp_p£ Yp q^Gcp 

qYG & 
2

1
+

2

1
=1 

2. H}dHpWp g t̀¥Ycr ^¥YcJph Yy gp`ªVy Imr \o`tI g`§qgAp Yp q^Gcp qYE & 1 
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3. `v¥^Br qeM gvWr H\mp q`§dp£ Yr gXp\²¾p Yy dBr Ot`zepc H}Br Y} HpcHp£  

Yp q^Gcp qYE & 
2

1
+

2

1
=1 

4. ‘M¡Xy (MWtcX) YcOy’ YrAp£ gcJc`rAp£ Yr `hWWp Yp `td¥HV Hc} & 1 

5. ‘\cpYyfH a}O²¾p ¥̂Yr’ Yr Zpc²¾p Yr Op£M Hc} & 1 

6. _pcW, g¥gpc qeM apWcp dBr hc`²¾ q\Apcr ¥̀kd qHE¤ h± ? 1 

7. epZp AWy qeHpg qeM A¥Wc g\fR Hc} & 1 

8. ‘‘eZYr h}Br O²¾g¥qIAp AWy EYa}qJH qegWpc h}V Yy Hpc²¾ \pVr Yr 

qeeyHhrV A¥ZpZt¥Y ecW~ ²¾pd \pVr Yr JtVe§Wp (HepdRr) qeM ^htW gpcr 

qJcpeR ApBr h± &’’ qBg HX²¾ Yp t̀d¥HV Hc} & 3 

9. g¥gpc qeM gmH ApepOpBr YrAp£ qHgy qW¥²¾ \o`tI g`qgApep£ Yp ecV²¾  

Hc} & 31=3 

10. ‘‘hc O²¾ecr qeM ³gd HRpBr (epUr) Yr ctW W~ q\§N~ JtephpRr W~  

35 qHd}`rRc Yvc OpJrc}T qeM ‘Op²¾^rd `ydp’ dJYp h± AWy fpqBY qBh 

_pcW Yp qBH} qBH AOyhp `ydp h±, qOXy ‘egWv eRp£Ycp’ qeegXp AO er 

\oMdW h± & qBg `ydy Yy Y¡cp²¾ qBH e§Ty ^Opc Yr qeegXp HrWr Op£Yr h± AWy 

eI} eI O²¾OpWrAp£ AWy g`vhp£ Yy d}H Ap\VrAp£ egWvAp£ Yp d±V-YyV HcYy 

h²¾ &’’ 

 E¨\c qY§Wy JBy \±cy Yy g¥Yc_ qeM O²¾OpWr g`vhp£ Yy Ore²¾ qeM ‘egWv 

eRp£Ycp’ qeegXp Yy `t§dp ²¥¾v EqM§W S±¾hcpG &  3 
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11. hyS¾ qY§Wy JBy qM§Wc Yp qZAp²¾ ²¾pd AqZA±²¾ Hc} AWy EgYy hyS¾ qY§Wy JBy 
\of²¾p£ Yy E¨Wc qd§I} : 1+2=3 

 

(11.1) Hgq^Ap£/²¾Jcp£ Yy qHg ecJ qeM g_ W~ eZycy ²¾Jcr O²¾g¥qIAp 
qYIpBr JBr h± ?  

(11.2) qBg ecJ Yy Hgq^Ap£/²¾Jcp£ qeM AOyhr qkApYp O²¾g¥qIAp g¥KVWp 
h}V Yy H}Br Y} Hpc²¾ g\fR Hc} & 

²}¾R : hyS¾ qdqIAp \of²¾ Hyed qYofRr qeHdp£J \orqIApcXrAp£ Yy dBr \of²¾ g¥qIAp 
11 Yy Xp£ ^Ydep£ \of²¾ h± : 

 _pcW qeM ²¾Jcr ^gWrAp£ YrAp£ qHgy qW¥²¾ qefyfWpep£ Yr qeApqIAp Hc} & 3×1=3 

12. N}Ry \±`p²y¾ Yy EYa}J AWy e§Ty \±`p²y¾ Yy EYa}J qeM A¥Wc g\fR Hc} & 3 

13. ‘‘ApqYHpdr²¾ _pBrMpcy \vcr Wcªp£ HtYcWr epWpec²¾ Yy ²¾pd Wpd`yd ^Vp Hy 
chy AWy ³dgecv\ `²¾®I Yp \cqHcWrHc²¾ h}qBAp &’’ HX² Yr \tfRr  
Hc} & 3 

14. ¾‘‘IpVp qBH§S¾p Hc²¾p AWy qfHpc Hc²¾p ApqYepgr g`pOp£ Yy dBr Ore²¾ 
q²¾ceph Yy dBr \cpc¥_H ApcXH qHcApep£ h²¾; \c AO}Hy g`z qeM _}O²¾ 
qBH§S¾p Hc²¾ Yy H¥` Yp e\pcrHc²¾ hr h} qJAp h± &’’ qBg HX²¾ Yr Op£M  
Hc} & 5 

15. ‘O²¾g¥qIAp (A^pYr) Yr KVWp’ f^Y Yr \qc_pfp Hc} & g¥gpc qeM 
O²¾g¥qIAp Yr e¥T ²¥¾v \o_peW Hc²¾ epdy Mpc _vJ}qdH HpcHp£ YrAp£ EYphcVp£ 
Yy Hy qeApqIAp Hc} & 1+4=5 
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16. hyS¾ qY§Wy JBy geyO ²±¾hc Yy `p²¾qM§Wc Yp qZAp²¾ ²¾pd AqZA±²¾ Hc} AWy EgYy 

hyS¾ qY§Wy JBy \of²¾p£ Yy E¨Wc qd§I} :  1+1+3=5  
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(16.1) Eg Yyf Yp ²¾p` qd§I} qOgYy qeM~ qBh ²±¾hc JtOcYr h± &  

(16.2) qBg ²±¾hc ²¾pd Otmy gpJcp£ Yy ²¾p` qd§I} &  

(16.3) qBg ²±¾hc ²¾pd Otmy qh¥Y gpJc Yy dBr avc}\ Yp \oeyf Yepc qHE¤ 

qHhp Op£Yp h± ?  

 

²}¾R : hyS¾ qdqIAp \of²¾ Hyed qYofRr qeHdp£J \orqIApcXrAp£ Yy dBr \of²¾ g¥qIAp 

16 Yy Xp£ ^Ydep£ \of²¾ h± : 

(16.1) geyO ²±¾hc qHg Yyf qeM ^VpBr JBr h± ?  

(16.2) qBg ²±¾hc Yy Y}hp£ qgqcAp£ ²¾pd Otmy h}By g`t¥Ycr ^¥YcJphp£ Yy ²¾p` 

qd§I} & 

(16.3) qBg ²±¾hc Yr avc}\ AWy ByfrAp Yy dBr ApcXH `hWWp ²¥¾v g\fR  

Hc} & 1+1+3=5  1+1+3=5 

17. _pcW qeM ‘Od qe_pO²¾ \o ¥̂Z²¾’ AWy ‘^cgpWr \pVr Yp g¥JohV’ qHez gWhr 

Od g¥gpZ²¾p Yy Htfd \o^¥Z²¾ AWy gtcqIAV YrAp£ qeZrAp£ h²¾, g\fR Hc} & 5 

18. _pcW Yy cpfRcr `hp£gpJcp£ YrAp£ qHgy \¥O qefyfWpep£ Yp ecV²¾ Hc} & 51=5 

19. ‘‘_pcW qeM O²¾g¥qIAp Yr Yfp^Yr AWy gpdp²¾p epZp Ycp£ Y}²}¾ ^htW 

E¨MrAp£ h²¾ AWy g`z Yy ²¾pd eZ chrAp£ h²¾ &’’ qBg HX²¾ ²¥¾v \c`pV Yy Hy 

qg§Z Hc} &  5 

20. ‘‘OyHc `tUdy (ftcvApWr) IcM Yp qZAp²¾ cqIAp OpBy Wp£ FcOp Yy J±c 

cg`r gc}W eZycy qRHpF, epWpec²¾ Yy A²¾®Hvd AWy ggWr FcOp \oYp²¾ HcYy 

h²¾ &’’ qBg HX²¾ Yr Op£M Hc} & 5 
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21. g¥gpc Yy qY§Wy h}By cpO²¾rqWH cyIp-`p²¾qM§Wc (\¥²¾p 9 Wy) qeM qYIpBy JBy 

\¥O _¡J}qdH d§NVp£ A, B, C, D AWy E Yr \NpV Hc} AWy E²¾ªp£ Yy ghr ²¾p` 

hyS¾ qYWr OpVHpcr Yr ghpqBWp ²¾pd E²¾ªp£ Yy H}d qI§MrAp£ JBrAp£ cyIpep£ 

E¨\c qd§I} : 5×1=5 

A. \o`tI g t̀¥Ycr ^¥YcJph  

B. A¥Wc-cpfRcr hepBr A§Tp  

C. \o`tI EYa}qJH \oYyf 

D. R\crepg \gvMpcV Yp `hWe\vc²¾ IyWc 

E. `yJp qgRr 

²}¾R : hyS¾ qdqIAp \of²¾ Hyed qYofRr qeHdp£J \orqIApcXrAp£ Yy dBr \of²¾ g¥qIAp 
21 Yy Xp£ ^Ydep£ \of²¾ h± : 

(21.1) ²¾pcey Yr qHgy qBH \o`tI g`t¥Ycr ¥̂YcJph Yp ²¾p` qd§I} & 

(21.2) a`²¾ Yy qHgy qBH A¥Wc-cpfRcr hepBr A§Ty Yp ²¾p` qd§I} & 

(21.3) \vc^r g¥atHW cpO A`yqcHp Yy qBH `hWe\vc²¾ EYa}qJH \oYyf Yp 
ecV²¾ Hc} & 

(21.4) \vc^r A³crHp qeM R\crepg \fvMpcV Yy qBH `hWe\vc²¾ IyWc Yp 
²¾p` qd§I} & 

(21.5) ^opOrd Yy qHgy qBH ‘`yJp qgRr’ Yp ²¾p` qd§I} & 5×1=5 

22. _pcW Yy qY§Wy h}By cpO²¾rqWH cyIp-`p²¾qM§Wc (\¥²¾p 11 Wy) qeM hyS¾ qd§Iy 
d§NVp£ ²¥¾v UtHez qM²¾ªp£ ²¾pd YcgpG AWy E²¾ªp£ Yy ²¾p` qd§I} : 5×1=5 

(22.1) Mph Yp \o`tI EW\pYH cpO  

(22.2) `avc_¥O – d}h-IVO Yr IpV Yp IyWc  

(22.3) Hc²¾pRH qeM gqXW `hWe\vc²¾ gRrd \dp£R  

(22.4) Hycd Yy Ztc Y§IV Yp A¥Wc-cpfRcr hepBr A§Tp 

(22.5)  E¨Wc _pcW qeM Yg q`qdA²¾ W~ eZ O²¾g¥qIAp epdp f±hc 
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²}¾R : hyS¾ qdqIAp \of²¾ Hyed qYofRr qeHdp£J \orqIApcXrAp£ Yy dBr \of²¾ g¥qIAp 
22 Yy Xp£ ^Ydep£ \of²¾ h± : 

(22.1) _pcW qeM Mph Yp \o`tI EW\pYH cpO qHhmp h± ? 

(22.2) GqTfp Yy qHgy qBH d}h-IVO Yr IpV Yy IyWc Yp ecV²¾ Hc} & 

(22.3) Hc²¾pRH qeM gqXW qBH `hWe\vc²¾ gRrd \dp£R Yp ²¾p` qd§I} & 

(22.4) Hycd qeM gqXW qHgy qBH A¥Wc-cpfRcr hepBr A§Ty Yp ²¾p`  

qd§I} & 

(22.5) _pcW Yy qHg cpO qeM ²¾Jcr HcV Yp gWc g_ W~ ²¾rep£ h± ? 5×1=5 
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\of²¾ g¥. 21 Yy dBr 
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\of²¾ g¥. 22 Yy dBr 

_pcW Yp cyIp-`p²¾qM§Wc (cpO²¾rWH) 
   Outline Map of India (Political) 
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